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Basic Skills

1. Round fo the nearest 1000 -- a 17400 B 132800,

2. Copy - The arswer o 12874 + 6730 is gbout 13000 + ... which equals ... .

3.  Whrite the rumber that comez - a 300 after 8700 b 500 before 13100

4 Write the number 620 010 in words.

5. Find the following :-

a 2790 b 24884 + To08 C G000 d 22080 - T2

+ 880 - 258

&. Find the following :-

a 4023 b I13090x 9 C '.-"'| 5504 d 535688

x 6

7. bidentical bottles hold 2730 millilitres.
How much does 1 bottle hold 2

8. Towhat numbers do these arrows point ?

a b C
I|IIII|III|I |IIIIIIII|I |IIII|III|I
230 1' X i T T % i ]} i T ]
Q. Write down the answers to the following -
a 406 x D000 b S03200 - 100 c 322 x 3000 d 9630000 - 400,
10. T am thinking of a number. %
When I multiply it by 40 and add on 1000 the answer is 4200. E @H
What was the number I was thinking of 2 '
11. Rownd :- o 209550 to the nearest whole number

b 0076 to 1 decimal place. ¢ 13-8986 to 2 decimal places.

12. Do the following :-

a 276 +4-85 b 23071 - 450 c 609 x8 d 4128 + 3.



Basic Skills

13. Find :- a 40607 x 100 B 2208 = 1000
14. Find :- a £21-15+3 B 6+24:=6-2

15. What is the temperature en this thermometer ?

-00°C -40°¢ -20°C o°c 20°C

1&_ Find :-
a 6-9 B -8+12 e 3+(-10) d (-13)-5.

17. Write down the next twe numbers in these patterns :-
a 16,20,24,28,... b B85.78.71. 64,.. ¢ 20.1510.5...d 1 4 16, 64, .

18. Write down the first six multiples of 9.
12 Write down all the facters of 30.

20. Write down all the prime numbers between 40 and 60.

22. What fraction of these coins are copper ?

23. What percentage of this square has been shaded ?

21. What fraction of this shape is shaded 2

'vﬂ I.
n

T
]

| E -
24. At a birthday party, 35% present were men, 35% were women -
and the rest were children. What percentage were children ? L

[TT]

111

CIT]1

2%. Write down any fractien equivalent to ‘;—.

2&. Simplify the fraction :f'—i_, as far as possible.



Basic Skills

. . ] - . 3 .
28. Rewrite these numbers in order, puting the largest first:- &, 70%, 08,
29. Express 44% as a fraction, simplifying it as far as pessible.

30. Find 20% of £370.

31. Lara scored 24 out of 30 in a test. What percentage is this ?

32. Dave has a £20 note, two £10 notes and a two £5 notes in his wallet. @
He buys 2 shirts at £12-75 each. 3 ties ot £6-50 each and a tie pin costing £3-50_¢ -"i.‘.\]‘:"t'm

How much will he have left 2
33. Which of these packs gives the better deal ? (Explain your answer)

Pack of 9 b P PR Pack of 8
- £360 A j -£336
[t ol BT

34. T chonged £600 into American dollars when the rate was :-

How many dollars did I receive ?

35. A fashion shep bought in 10 ladies fur lined jackets for £375.
The jockets were sold priced £49-50.

How much prafit did the shop make altogether if all were sold 2
6. A TV Drama ended af 19:55. Write this in 12 hour form, using am or pm.
37. Change 255 minutes into hours and minutes.

8. Jill went for a 2 mile jog. The first mile took her & mins 55 secs. %
The second took her 7 mins 20 secs. -

e

How long did Jill's two mile jog take her altegether

39. Buckie ran a mile in 4 mins 23-85 seconds.

Andrews ran it in the time shown on the stopwatch. min sec T

Who was faster and by how much ?
\ o
40. The show at the theatre began at 19:35 and finished at 22:20.

How long did the perfermance lost 2

==y



Answers

14488
6694

24100

13-76

-20

1. a 17000 B 140000

2. 13000 + 7000 = 20000

3. a 10000 b 12600

4 six hundred and twenty theusand and ten
D a 3650 b 32492 ¢ ST742 d
6. a 24138 b 11710 & 942 d
7. 455 nl

8 o 298 b 695 c 096

9 o 406000 b 5032 ¢ 966000 d
10. 8O

11. a 210 B 01 c 1390
12.a 3245 b 18481 ¢ 4872 d
13. a 40607 b 02208

14 . a 16 b &

15, -44°C

16.a -3 b 4 c -7 d
1I7.a 32,36 b 57,50 = 0,-5 d

18. (. 5. 18, 27
19.1,2, 3.5, 6,10, 15, 30
2041, 43,47, 53,59

21. 3/
22 5/4
23 60%
24.10%
25.8/5
26.5/;
27.£270

. 36,45, 34

2B.08, 3/4, TO%

29 11/,
30. 74p

256, 1024

31
32
33.
34
35
36.
3r.
38.
39.

BO%

£1-50

S pack - 40p, 8 pack - 42p (2 pack better)
£200

£120

7.95 pm

4 hours 15 minutes

14 min 15 secs

Buckie by 2-60 seconds

2 hr 435 mins



Whole Numbers

Eeercice 1o [ 4
Multiply & Divide. _
1. a A trainarrives at a station with 236 people on board.
At the station 108 people get on and 171 people get of f.

How many people are on the train now #

b The next train to arrive at the station has & carriages

Each carriage hos 123 people.
Four hundred and sixteen people get of f the train.

How many people are now on the train #

2. a BEvehas &6 photo albums. There are 224 photos in each album.
How mary photos does Eve have in total ?

b Pia has 1561 stamps in her collection.
She has seven identical full stamp books.

How marry stomps are in each book # : L _J

3 a How marry hours are there in 6300 mimrtes ?
There are 24 hours in a doy. How many hours are in one week #
[ How mary minutes are there in 64 B00 seconds ?

4. Ellis bought the following ot the supermarket -
4 kg of potatoes at £1-08/kg, 2 kg of mince af £2-85/kg
1-5 kg of cheese at £2-60/kg 350 g of green beans at 45p/50g.
What was his total bill in the supermarket ?

5. g-'-hfg Four packs of sandwiches and five drinks costs £10-60.

If one drink costs B0p, how much is each sandwich #

6. (Difficult). A Shirt costs £2¢ and a pair of trousers costs £27.
Brod spends £191 on shirts and trousers.

How mary shirts and how many trousers did he buy ?




Whole Numbers

2.

6000 = 200 f S0000+300 g 71400=700
96000 = 3000 j 560000 +4000 k
Q819000 =900 m 64200+200 wn 150000 = 2000.

m Multiples of 10,100, ...
wesl’
Find without a calculator :-
a 34x20 b 30x46 ¢ 312x30 d 103 x 80
e 23bx200 f 262 x 300 g 541 x700 h 4444 x B0O
i 132 x 3000 J 18 x 4000 k 304 x 8000 | 3105 x 9000
m 14600x200 n 600x 300 o 12000 x b0 p 0x60000.
Find witheout a calculator :-
a 460+ 20 b 3060+ 30 ¢ B400 =40 d 64800+80
e h 350000 = BOO

568 000 = 8000

3. A local football team has a total weekly wage of £8600 for twenty players.

a

b

If all players receive equal pay. how much does each player earn weekly ?
Each player carries a £145 insurance policy.

What is the total player insurance cost ?

There are 500 tickets in a book. six hundred books in
a box and 200 boxes in a crate.

How marny tickets are in a crate ?

A juggernaut carries a total of one hundred
thousand bottles of juice in 10 palettes.
Each palette holds 20 containers.

Each container holds 50 boxes.

How many bottles are in a box ?

sacla

1. Use Bomdaos to find -

a I+2=x4 b B+2x6 = 12 + 10 = 4 o 10 =4+ 5
< 12 -4 x 2 f 26 -3« 8 g 15 -2 =« 7 h 20 = 3 - 60
i Lof1o+e i 18+5%ofe k 16- % of 15 I half of 20 + 4
m  2x(bB+6) n El‘—uf{l'_E—-ﬂr:l o ((6=2)+8)x3 - (11 - 3).

2. Copy each of the following and insert brackets to make each calculation correct :-
a 10+ 5 x 2 = 30 ] 15-6x3 =27 = —é—uf16+32=6
d 10xb5-2x3=20 < 6 +2+6x3 =6 f 8+ 2x3-2=10.



Answers

Exercise la - Add, Subtract. Multiply & Divide

1. a 173 b 322
2 a 1344 b 223

4 a 105 b 168 ¢ 1080
5 £1695

6. £165

F. D shirts and 3 pairs of trousers

Exercise 3 - Multiples of 10, 100, 1000

1. o 680 B 1380 ¢ 9360 d 8240
e 47000 f 78600 g 378700 h 2222000

i 396000 j 72000 Kk 24320001 27945000
m 2920000n 180000 o 6O000000p O

2. a 23 B 102 e 210 d 810
e 30 f 300 g 102 h 700
i 32 j 140 k 71
[ 10910 m 321 n 79
3 a £430 B £2900
4 a 60000000 B 10
Exercise 4 - BOMDAS
1. a 11 B 17 c 92 d 45
e 4 f 2 g 1 h O
i 11 j 21 k 11 | 14
m 22 n 1 o 29
2. a (10+9)x2=30 b (I5-6)x9=27
c gef(l6+32)=6 d 10x(5-2)x3=90
e 16-(2+6)x3=6 f (B+2)x(3-2)=10



Decimals

Exercise 5

1. Write down the answers to the following -
(a) 8-4 x 10 (b) 98 x 10 () 762 x10 (d) 1871 x10
(e) 641 x 100 () 091 x 100 (g) 4021 x 100 (h) 00054 x 100
(i) 5213 x 1000 (j) 08765 x1000 (k) 10041x1000 () 42 x 1000

2. A crate weighs 47-62 kg. What would be the weight of :-
(a) 10 crates (b) 100 crates (c) 1000 crates (d) 10000 crates ?

3. There are 1000 millilitres in a litre. How many millilitres are there in -

(a) 5 litres (b) 7-62 litres (c) 00415 litres (d} 001 litres ?



Decimals

Exercize 6

1. Write down the answers to the fellowing -

(a) 286 + 10 (b) 198 = 10 (c) 7-62=10 (d) 1871=10
() 641+ 100 (f) 1091 = 100 (g) 42 =100 (h} 054 =100
(i) 521-3 = 1000 (j) 08 = 1000 (k) 1004=1000 () 9=:1000

2. The length of 100 pieces of railway track is 412-6 metres long.
(a) What is the length of each piece in metres ?
(b) Change your answer to centimetres.

3. There are 1000 squibiis in a martian pound.
How many martian pounds in :-

(a) 3497 squibiis (b) 214-6 squibiis
(c) 21977 squibiis (d) 1 squibii ?

Exercize 7

1. Write down the answers to the fellowing -

(a) 4-34 (b 8-27 (c) &-78 (d) 11%-3&
x 4 » 7 x 6 w9
() 3T x 8 (f] 42-3 x4 (g) 1359 x5 (h) 7x 37521

2. Show all your working to the following questions :-
(a) Fred the monkey eats 3-74 kg of food every day. -
What is the weight of food Fred will eat in :-

(i) 3 days (i) aweek ? @

(b) Boris the zookeeper gets paid £7-84 an hour.

How much will Boris earn in -

(i} 4 hours (ii) 2 hours ?

(c) Kevin the Camel eats six 3-71 kg boxes of dates every month. ,‘? i
Karen the Camel eats five 409 kg boxes. %':?}‘
Who eats the mest and by how much ? ‘il

i‘;lr. “Ij



Decimals

Exercise 8
1. Copy and complete the following :-
(@) 2[3716 ()  &[o1-44 (€)  7[a179 (d  gl12912

2. Find :- (a) 357=+7 (b} 5706 <6 {c) 0072-=8

3. Show all your working for the following questions :-
(a) Mine bricks have a total length of 2-61 metres long.
What is the length of 1 brick ?

(b) Three kegs of beer hold 30716 litres.
How much beer does one keg hold ?

(c) Find :- (i) athird of 20-8 (ii} a ninth of 51-66
(iii) asixthof 606 (iv) a fifthof 07

4. Two shops sell identical shirts.
Shop A sells three shirts for £8-79.

Shop B sells five shirts for £14-75.
Which shop has the best deal ? Explain.

Exercise ©
You may use a calculator for this exercise but show all working.

1. Shreek the ogre has eight worm lollies each 7-8 cm in length.
What is the total length of all the lollies ?

2. Benhas a5 litre jug.

0-32 litres, 1-056 litres and 1-2 litres poured into it. . Tr'
How much mere will the jug held ?

3. Senji buys six comics at £2-49 each.
How much change will he get from a £20 note ?
4. Marilyn buys eight concert tickets for £182. B B Ly B B B

How much was it for each ticket 2 . <oy, <, o,



Decimals

5. Mr. Jones borrows £2500 for a family holiday.
He promises to make equal payments every
4 months for 2 years.

How much is each payment ?

6. A large box of Scapasud costs £12-85.
A small box costs £7-98.
Which is the best value ? Only
Explain your answer. £12:85 E"h"
798
s .
Revision Exercize
1. What does the zero stand for in each number -
(a) 5-07 (b) 111-901 (c) 0-9815 (d) 51904

2. Which numbers are the arrows pointing fo -

@ Hipin g © i oo
! 8 g 30 31 )
I
3. Round to one decimal place :-
(a) 0-84% (b) 57911 (c) 99-501 (d) 10+6
4. Do the following mentally and write down the answer :-
(a) 2172 + 548 (b) & - 467 (c) 263x5 (d) 5964 <7
(e) 061 x 10 (f) 7-821 x 100 (g) 1000 x 0-3247 (h) 432 x 200

5. A 5 metre length of cable is cut into 3 strips.

The first strip was 3-42 m.
The second strip was 0-75 m.

How long was the third strip.

&. Use a calculator and then round to one decimal place.
(a) A barrel holds 140-6 litres of water. How much would 17 barrels hold 2
(b) Thirteen railway cars have fotal length 164-2 metres. What is the length of om

(c) A field with area 1875 metres is fenced into four equal section.
What is the area of each section ?

(d) Twenty sweets cost £1. How much for fifty sweets ?



Answers

Chapter ? Exercize 5

1.a 34 b &8 c Th-2

e 641 f &1 g 402-1

i 5213 i 876-5 E 10041
I.a 4762 kg b 4762 kg

c 47620 kp d 476200 kg
3.a 5000 b 7620 c 41-5
Chapter } Exercize &
1.a 2-86 b 1-98 c D-762

e 0641 f 0-1091 g 0022

i 05213 j 00008 E O-DOLOO4
2.a 4126 m b 412G cm
J.a 3497 b 02146 e 21877
Chapter ! E=xercize 7
1.a 17-36 b 57-89 c 5I-68

e 456 f 169-2 B G795
2oa (i 1122 ke () 26-18 ke

b Gy £31-36 (i £70-56

¢ Eevin by 1-31 ke
Chapter ? Exercize 8
1.2 18-58 b 1524 o 507
2a 51 b 851 c 0-009
Jbar¥m b 102421

o () &6 (it 5™ (xt) 101
4 shop A each shirt 2p cheaper
Chapter ? Exercize 2
1.62-4 cm 2,111 3.E506
5 £400 4. 5 kg box - Spkp cheaper
Chapter 2 Revision Exzercise
1.a tenths b hundredihs

¢ whale d thousands
2a 77 b 2-92

d 1871

1 4200

d 10

d 18-T1
h 0-0054
1 0-009

d 0-001

d 1074-42
h 262-647

d 16-14

%) 014

4_£22-75



Rounding

m Decimal Places & Rounding .m_.

cocla
1. Round each of the following to ene decimal place :- &
a B863 b 377 e 9061 d 204%
e 11123 f b496 g 00612 h 9997,
2. PRound each of the following to twe decimal places :-
a 1768 b 12125 e 7706 d 900562
e 304399 f 001517 g 99987 h 99009,

3. Round each of these numbers to the number of decimal places in the brackets :-
a 7845 (2) b 31903 (1) e 51542 (2) d 587654 (3)

4. a Share £8000 equally between 6 people.

How much can each person get ? / E
. )

b Share one million pounds equally between 9 people.

How much can each person get ?

¢  How much will each person get if you share EID%_— million between 7 people ?

5. Find three places in real life where rounding to decimal places is used.



Answers

Exercise 1 - Decimal Places

1. a 86 B 38 e 91 d 29

e 111 f 5950 g 01 h 1000
2. a 177 b 1213 e 7-71 d 901

e 304 f 002 g 9999 h 10000
3 a 783 B 32 ¢ 2194 d 5877
4 a £1333-33 b £111111-11

¢ £1464283-71

5 Various



Integers

1. Write down the temperature shown on each thermometer :-

a @—I—!—!—!—!—I—HIIIIIIIIIIIIII} b %llllllllllllllllll)
10°C -5°C 0=C 5°C 10°C —40°C =I0°C oC e 40°C

2. a The temperature last night dropped from 3°C 1o -5°C. %:
By how many degrees did the temperature drop ? _ _é' ?
b Two hours ago the temperature read -1°C. R
The temperature has risen by 8°C. :

1

What is the new temperature ?

3. a My bank balance showed -£35. T withdrew £25. How much does my account now show ?
Ed's account shows (-£3550). He deposits £1650. What does his account show now 2

4. Which integer is halfway between :-
a -12and 14 b -1land13 ¢ -111and 113.

L. Write down the temperature that is :-

a 8% down from 2°C b 5% up from-3°C ¢ 18°C down from -11°C.
2. 4°Cis 6°C up from -2°C. Copy and complete :-

a  3°Cis v from -3°C b B is v from -1°C

¢ -H°CHs e, from -20°C d -23°Cis e from -57°C.

3. A chemical freezing unit starts at -3°C and drops 8°C every hour.
What is the temperature after :-

a 3 hours B 5 hours c 85 hours ?



Integers

L

a
d
9
i
il
P

Find :-

2+(-1)
(-1)+ 3
165-23
(-3)-1
(-5)+ (-5)
(-2)+4-6

L

Copy and complete :-

2. Find -

a 3-(-4)

d (-2)-(1)

9 (-23)-(-34)
3. Find -

L

Find :-

a 3Ix(-1)

d
g 16+(-2)
]
m

(-6)x 3

(-60)= 6
(-3)x2 x5

L

Find :-

a (-2)x(-3)

d (-3)x(-3)

9 (12)=(-4)
i (-23)x(-30)

b
e

h
k

n

q

S

a

A

B+ (-4)
(-3)+6

37 - 58
(-12)-5
(-8)+ (-3)
(-1)+ 1+ (-1)

R

5 - (-7)

e (-6)-(-3)

h (-123)- (-234)

= == 0o o

=

= == 0 o

(14)- (2:3)

B x(-3)
(-5) = 4
24 = (-3)
(-124) = 4
Ix(-1)x2

(-5) x (-3)
(-7) % (-6)
(-18) = (-5)
(-250) = (-50)

== =] _— = = [x]

8+ (-3)

(-9)+3

123 -141

(-B&)- 23

(-134) + (-166)
(-23)+ (-12) - 17.

/"

(b -3-(

2))
-3+2

k\_ nmaaaa

C
f

-_— = = 0

= O

12 - (-12)
(-11) - (-12)
(-100) - (-100) - 100.

(-5:7) - (-68).

B = (-8)
(-7) x4

45 - (-5)
(-312) = 3
6x3x(-2).



Answers

Exercise 0.3

-3°C
g°C
—£60
1

TR -
B B R R

Exercise 9.4

l.

2
3.

a 46°C

. a 6°Cup

a -27°C

o o oo

b 2°C

-28°C
7°C
—£1900

¢ -29°C

b 6°Cdown ¢ 9°Cup

b —43°C

¢ -71°C

d 34°C down

Exercise 9.5

1. al
e 3
i -18
m-10
q -1

Exercise 9.6

a 6f

a 7

g -3

1 -100
a 0-9

Exercise 9.7

l.a -3
e =20
i -9
m -30

Exercise 0.8

l.a 6
e 42
i 5

ER -

Hh

- e

oo oo

6
-4
~11

=52

1-1

-15
-28
-10
-6

15
31
690

(r]

=20 <l -]

i 1]

-8
-17
-290

24
11

-64
-8

-31
~36

LR -]

h -21
1 -79
p -4

d -18

1 -104

Ll =2 =W
lua ND



Algebra
Enercise 1

Simplifying

1. Simplify each expression by collecting like terms :-

a y+y+y b

e Zw+ow+3 f
3 x4y i

I ax3b m

p 18p=3p q

t+ 3t-2+F
Tu+3-bu

c
g
J

n

P

2. Find the total area of each large rectangle in terms of x and y :-

a

3x

2x

b

3p+bp+p d 4k+9k-4k
By+4b+ 3y-2b+7
lop =2 k 24w+ 8
2ab x 3a o 3cdxd4ecx2d
40g° + Bg° = 4tx6t: 8t
2y oy
¥




Answers

Exercise 1 - Simplitymg

1. a 3y B 2t c 9 d %k
e Bw+3 f w#+3d g lly+2b+7
h 12y i 42k j 8p k 3w
| 3ab m G n bath o 24¢2d?
p 6 q 2k ro3 s 3t
2. a 6x® +3x b 7yt + 21y



